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[FigO0] Data-&-Fit Quality || K0528 0.4.5 d14a500 w/base Bgsd6e || FWHM= 0.50 dex ; AR=1.0 pix || IC0776
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[FigO1] t & R profiles || K0528 0.4.5 d14a500 w/base Bgsd6e || FWHM= 0.50 dex ; AR=1.0 pix || IC0776
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[Fig02] ... KO528 0.4.5 d14a500 w/base Bgsd6e || FWHM= 0.50 dex ; AR=1.0 pix || IC0776
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[FigO3] MoTs & SFRs 4 discussion || K0528 0.4.5 d14a500 w/base Bgsd6e || FWHM= 0.50 dex ; AR=1.0 pix || IC0776

SDSS stamp

0.40
— 0.35 — ----------- ----------- -----------------------
= 0300 R S )
= HEEEEEEEN,, .
S 0.25(- : i .
* 0.20F-----ooee e e s
= : : : ]
— 0.15p - -o----. (REEEEEEEED R R ».
= : : : : A
g 0.10F+ — ——- e e P e ) NG +1-
= : : : : '
O 0.05f: - b e Doy X
04:)0 : .: | | [
3-5‘§ """""""""""" <= 0.5 HLR ]
3 0_: __________________ — <=1.0 HLR_
e . = > 1.0 HLR
2.5 = 7 = tot

MoT(t) / MoT(c0)

log SFR-SD [M@/yr/kpc2 ]

log SFR [M /yr]

integrated

log t [yr]

0.005

0.004

0.003

0.002

0.001
0.45

0.40 |
0.35}

0.30
0.25
0.20
0.15
0.10
0.05

0me

0.0

MoT = M(<t)/t [M/yr]
T T T

=2¥0.005

. . . . "I“ .
| | | | |

Y =y
N

080

90046

0.012

MoT-SD = M(<t)/t/A [M

@/ yr/ kpc2 ]

MoT(t) / MoT(c0)

0.14 : ! - : 3.0 !
0'12_'-%: ___________ R | Asarlff°7SFR‘SD:(t)| 55l :
0.10 20

0.08 s

0.06 © G

0.04 1.0/~

0.02 H- 0.5

0.06 H 8.0 -

0.05
0.04
0.03
0.02}
0.01

2.5
2.0

0.5

1.5H N\ 4
LOH =i

0.025 |
0.020
0.015
0.010

2.5
2.0

0.5

8.0

1.5/
1.0

.0040
.0035
.0030
.0025
.0020
.0015
0010}
0005 |-

2.5
2.0

0.5

8.0

1505
1.0F

0.010
0.008 |
0.006
0.004
0.002
0.014

8.0+

2.5
2.0

1.5F
1.0H

0.5

0.012
0.010f+ 3
0.008 %< A
0.006
0.004
0.002

2.5
2.0

1.5}
1.0}

0.5
0.0

8.0 H-

log t [yr]



[FigO4] b & c-Scalo ... || K0528 0.4.5 d14a500 w/base Bgsd6e || FWHM= 0.50 dex ; AR=1.0 pix || IC0776
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[FigO5] Properties maps || K0528 0.4.5 d14a500 w/base Bgsd6e || FWHM= 0.50 dex ; AR=1.0 pix || IC0776

SDSS stamp

loggpp[M ., /yr/kpc® | (142Myr) 0.0

0.00

log b- Scalo local (142Myr)

log M*" [M

/pc ]

log M /Li558

(M

/LA

|
)

0.5
0.4
0.3
0.2
0.1
0.0
-0.1
-0.2
-0.3
-0.4
-0.5

2.25
2.00
1.75
1.50
1.25
1.00
0.75
0.50
0.25

4.4
4.2
4.0
3.8
3.6
3.4
3.2
3.0

9.25
9.00
8.75
8.50
8.25
8.00
7.75
7.50
7.25

0.4
0.3
0.2
0.1
0.0
-0.1
-0.2
-0.3
-0.4

240
160
80

-80
-160
—240

a0 [%

100
90
80
70
60
50
40
30
20
10

10.00
9.75
9.50
9.25
9.00
8.75
8.50
8.25
8.00

0.4
0.3
0.2
0.1
0.0
-0.1
-0.2
-0.3
-0.4

450
400
350
300
250
200
150
100
50



(Z)y (R1)[Z,)]

MiniSD(R,>t) / MiniSD(R,0)

log MiniSD(R,>t) / MiniSD(0,0)

Npiz(R)

120

100

80

60

40

20

[FigO6] Z grad evol test || K0528 0.4.5 d14a500
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